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B2 s =RE 40 36 76 6.0 70.0 NRSOE 51 #Bh =5 49 48 97 20.4 76.6

£ nEx 28 43 42 85 14.4 70.6 52 mkR EE 42 43 8 8.4 176.6
3 MR TE 41 43 84 13.2 170.8 53 #HA EZ 47 38 85| 8.4 76.6
4 FREH FA 39 41 80 84 71.6 54 #E HA 41 49 90 [ 13.2 76.8
5 tE E# 44 45 89 [ 16.8 72.2 55 1] = 46 50 96 [ 19.2 76.8
6 HME &7 48 46 94 | 21.6 72.4 56 L H5H 43 47 90 13.2 176.8
1 X588 = 50 | 47 | 97 | 24.0 | 73.0 o1 IFm R 53 | 49 1102 | 25.2 | 76.8
8 /MER KA 40 44 84 110.8 73.2 58 RJR 1EF 50 | 51 [101 | 24.0 | 77.0
9 &Il & 46 44 90 | 16.8 73.2 59 HE B 43 46 89 12.0 77.0
10 3z H3E 42 42 84 10.8 173.2 60 Hf HE 44 51 95 18.0 77.0
(AR i 2 5 43 40 83 9.6 73.4 61 BE =LIE 48 52 100 | 22.8 71.2
12 4l B&E 45 43 88 | 14.4 73.6 62 & ME 38 | 44 82 | 4.8 71.2
13 KR Eif 42 40 82 8.4 173.6 63 TE = 54 | 51 105 | 27.6 | 71.4
14 tH# #& 50 49 99 25.2 73.8 64 Hik = 41 46 87 9.6 71.4
15 AE IE— 38 43 81| 7.2 73.8 65 B IEA 49 50 99 21.6 71.4
16 i@Bdh BA 43 42 85 10.8 74.2 66 Kix BB 49 56 105 | 27.6 71.4
17 B&HE B 43 42 85 10.8 74.2 67 #k #F— 47 51 | 98 20.4 71.6
18 fE 45 46 91 16.8 74.2 68 HE L& 54 | 50 104 26.4 71.6
19 X —% 4 47 91 16.8 74.2 69 HEH EHEX 48 55 103 | 25.2 71.8
20 T EZ 46 45 91 [16.8 74.2 70 /hik 45 45 90 [ 12.0 78.0
21 i #iE 45 46 91 16.8 74.2 n &\ FF 47 49 96 18.0 78.0
22 BHE RX 42 42 84 9.6 74.4 12 BE 18 46 43 89 10.8 178.2
23 iIBE ZR5h 43 47 90 15.6 74.4 13 ®iE =C 48 53 101 | 22.8 78.2
24 [RO HEK 41 43 84 9.6 74.4 14 &K FiE 48 52 100 21.6 78.4
25 vk 5 47 42 89 14.4 1746 15 BE =HKF 53 | 47 100 21.6 78.4
26 B&HF IEAN 44 45 89 [ 14.4 74.6 76 TFH #EiE 49 56 105 26.4 178.6
271 7w& KA 48 47 95 120.4 74.6 77 & H»DOF 52 | 47 | 99 | 20.4 | 78.6
28 #®AX —E 43 46 89 14.4 1746 18 Kt #HE 55 | 49 104 25.2 178.8
29 B#E BJT—HEB 48 52 100 | 25.2 74.8 79 HHE BA 44 42 86 | 7.2 178.8
30 kB =A 42 46 88 13.2 174.8 80 e EBE 47 48 95 15.6 79.4
31 1HET R=E 43 51 94 19.2 74.8 81 #FHok i 47 53 100 | 20.4 79.6
32 EH & 48 52 100 | 25.2 74.8 82 KE &S 50 | 50 [100 | 20.4 | 79.6
33 AN\ B— 47 52 1 99 24.0 175.0 83 K5 EE 55 | 51 [106 | 26.4 | 79.6
34 RNEF BEA 48 50 98 22.8 175.2 84 FHNO HE 46 47 93 13.2 19.8
3% T K& 48 44 92 16.8 175.2 86 KH #X 51 | 63 104 24.0 80.0
36 FWE T 42 44 86 | 10.8 75.2 86 HH =HE 4 42 86 6.0 80.0
37 & &= 43 43 86 10.8 75.2 87 #E FHR 44 47 91 10.8 80.2
38 GBI EH 44 42 86 10.8 75.2 88 Jllgl E— 56 | 53 109 | 28.8 | 80.2
39 dtin KE 50 48 98 22.8 175.2 89 AIE T 47 49 96 | 15.6  80.4
40 £/ K= 46 51 97 21.6 175.4 90 MmerR EE 54 | 51 105 | 24.0 | 81.0
41 kB KRE 47 48 95 119.2 75.8 91 KB BE 44 54 98 16.8 81.2
42 W X5 43 46 89 13.2 175.8 92 HO fH=E 48 60 108 26.4 81.6
43 &Il EB= 39 44 83| 7.2 |75.8 93 FHFW 1EiF 56 | 57 113 | 31.2 | 81.8
44 L AT 45 49 94 18.0 76.0 94 @\ EA8| 51 1 50 101 19.2 81.8
45 [ER ER 46 53 99 |22.8 76.2 9% HE SFif 56 | 53 109 | 25.2 | 83.8
46 &F L 47 46 93 16.8 76.2 96 WT HA 53 | 63 106 21.6 84.4
47 EE H—HD 53 | 46 | 99 | 22.8 | 76.2 97 B8 BE 57 | 59 116 | 31.2 | 84.8
48 REA  #tAE] 51 48 99 22.8 176.2
49 {£EB  BIT 50 48 98 21.6 176.4 A 0.0 0.0 =
50 Elll =88 46 46 92 | 15.6 76.4
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